P a7 '0n X,20 U .7"02

— YORY 1P 2%WNT2 PO
He took possession of the plants, he acquired the flowerpot

Overview

The X m3 rules that if one sells a flowerpot with plants in it, as soon as he makes a
7211 in the 2°¥77 he acquire the y7xv. Our Moo1n discusses whether the 1217 is required
to say "1?1 2aX in order for the buyer to acquire the y°xv.
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Contemplation is required to decide whether it is necessary for the seller to say,
‘5371 23R, just as this requirement is elsewhere, as the X713 rules in the first P92 of
PRNTOP NO0N -
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Or perhaps here it is not necessary that he be told *171 23X, for since the %Y is
necessary for the 2°y7, the y°xv is Hv2 to the 2oy -

NvOIN cites a similar case:
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And similarly by 2vw where the rule is, as soon as he takes possession of the land

he acquires the "uUw wherever it is; the same query applies, whether the seller is required

to tell him °1p1 23X regarding the 7w, or he is MNP the 7w even without *11 23X -
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And perhaps there (by the 70w) we do not require that the 121 say 2aR, because

! One can acquire P70%un (movable objects) ¥pIp 23X; meaning that if the grantor/seller wants to transfer to the
recipient both vpap (real estate) and 12u%vn, the recipient can acquire the 1°2u%vn, by just making a 1717 for the vpp,
and the 70907 are transferred to him automatically; provided that the grantor/seller says to him acquire this ¥pap with
a 7Ip and acquire the 238 P70%un the ¥pp. Seemingly here too he is anp the (179070n) y°¥¥ by making a fpm in the
o°y1, provided that the seller tells him *1p1 23X.
2 In this case the 0°v11 require the Y>3V to grow, and additionally when he gives him the 2°v11 (to make a 7ptn) he must
give him the y°%v as well; therefore this case is different from other 23X *1°1p where the ¥27p has no need for the 7"2u%0n;
however here since they go together it is understood that he is giving him the °y7r with the y*xy.
3 %,10 PwnTp. The R1n3 there teaches that a scribe may write a bill of sale for the seller (of ¥p7p) even though the buyer
is not there (since it is to the detriment of the seller that he is no longer the owner of this property). The X713 concludes
that as soon as the buyer makes a 7P on the ¥pap, he also owns the 7uw (which is his deed to the property).
4 This '®nw"' can be interpreted in two ways; either m20n is explaining why by 70w (also) 238 may not be required (as
'01n explained regarding y°X¥), or '0In is suggesting that even if 2R is not required by “vw, it still may be required by
Y%y, since a "W is more closely related to the ¥pp than the y°xv to the o°y7r, for a VW is RYIRT XI00OK. [One can
always transfer the 2°v771 into a different y°x¥.] See o»n 0. See’ Thinking it over’.
5> When one sells a horse with its reins it is obvious that the reins are included in the sale, for otherwise one cannot
lead the horse; similarly a field without a 7w (deed) is worthless, for anyone can dispute its ownership.
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the 2w is the ‘reins of the land’.

Summary
MvoIN is uncertain whether °121 23X is required by an y°X¥ and a "vw.

Thinking it over
Is it possible to say® that by y>xy there is more reason to assume that 23X is not

required, even more so than by ww?’

6 See footnote # 4.
7 2PYY NARDN 1Y and 07 7°1.
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